Monitoring JavaMelody on _vex-yul-rot-jenkins-1.ci.codeaurora.org

o Processes

User PID of % CPU % memory Virtual Resident TTY State Start CPU time Command
process memory size|memory size
(vsz, Kb) (rss, Kb)
root 2 0.00 0.00 0 0]? S Oct07 0:22| [kthreadd]
root 4 0.00 0.00 0 0]? S< Oct07 0:00[ \_[kworker/0:0H]
root 6 0.00 0.00 0 0]? S Oct07 0:13] \_ [ksoftirqd/0]
root 7 0.00 0.00 0 0]? S Oct07 0:13| \_ [migration/0]
root 8 0.00 0.00 0 0f? Oct07 0:00| \_[rcu_bh]
root 9 0.00 0.00 0 0f? S Oct07 70:52| \_[rcu_sched]
root 10 0.00 0.00 0 0]? S< Oct07 0:00| \_[lru-add-drain]
root 11 0.00 0.00 0 0f? S Oct07 0:20| \_ [watchdog/O]
root 12 0.00 0.00 0 0]? S Oct07 0:18| \_[watchdog/1]
root 13 0.00 0.00 0 0f? Oct07 0:13]| \_ [migration/1]
root 14 0.00 0.00 0 0]? S Oct07 4:24| \_ [ksoftirqd/1]
root 16 0.00 0.00 0 0]? S< Oct07 0:00| \_[kworker/1:0H]
root 17 0.00 0.00 0 0f? S Oct07 0:18| \_ [watchdog/2]
root 18 0.00 0.00 0 0]? S Oct07 0:18| \_[migration/2]
root 19 0.00 0.00 0 0]? S Oct07 0:17] \_ [ksoftirqd/2]
root 21 0.00 0.00 0 0]? S< Oct07 0:00 [ \_[kworker/2:0H]
root 22 0.00 0.00 0 0f? S Oct07 0:17| \_ [watchdog/3]
root 23 0.00 0.00 0 0f? S Oct07 0:23] \_ [migration/3]
root 24 0.00 0.00 0 0]? S Oct07 0:14| \_ [ksoftirqd/3]
root 26 0.00 0.00 0 0f? S< Oct07 0:00| \_ [kworker/3:0H]
root 27 0.00 0.00 0 0]? S Oct07 0:17| \_[watchdog/4]
root 28 0.00 0.00 0 0f? S Oct07 0:25| \_ [migration/4]
root 29 0.00 0.00 0 0]? S Oct07 0:13| \_ [ksoftirqd/4]
root 31 0.00 0.00 0 0]? S< Oct07 0:00| \_[kworker/4:0H]
root 32 0.00 0.00 0 0f? S Oct07 0:17| \_ [watchdog/5]
root 33 0.00 0.00 0 0]? S Oct07 0:18| \_[migration/5]
root 34 0.00 0.00 0 0]? S Oct07 0:13] \_ [ksoftirqd/5]
root 36 0.00 0.00 0 0]? S< Oct07 0:00| \_[kworker/5:0H]
root 37 0.00 0.00 0 0f? S Oct07 0:17| \_ [watchdog/6]
root 38 0.00 0.00 0 0f? S Oct07 0:22| \_ [migration/6]
root 39 0.00 0.00 0 0]? S Oct07 0:11| \_ [ksoftirqd/6]
root 41 0.00 0.00 0 0f? S< Oct07 0:00| \_ [kworker/6:0H]
root 42 0.00 0.00 0 0]? Oct07 0:17| \_[watchdog/7]
root 43 0.00 0.00 0 0f? S Oct07 0:17| \_ [migration/7]
root 44 0.00 0.00 0 0]? S Oct07 0:13| \_ [ksoftirqd/7]
root 46 0.00 0.00 0 0]? S< Oct07 0:00| \_[kworker/7:0H]
root 47 0.00 0.00 0 0f? S Oct07 0:17| \_ [watchdog/8]
root 48 0.00 0.00 0 0]? S Oct07 0:17| \_[migration/8]
root 49 0.00 0.00 0 0]? S Oct07 0:10| \_ [ksoftirqd/8]
root 51 0.00 0.00 0 0]? S< Oct07 0:00| \_[kworker/8:0H]
root 52 0.00 0.00 0 0f? S Oct07 0:17| \_ [watchdog/9]
root 53 0.00 0.00 0 0f? S Oct07 0:16| \_[migration/9]
root 54 0.00 0.00 0 0]? S Oct07 0:10| \_ [ksoftirqd/9]
root 56 0.00 0.00 0 0f? S< Oct07 0:00| \_ [kworker/9:0H]
root 57 0.00 0.00 0 0]? S Oct07 0:17| \_[watchdog/10]
root 58 0.00 0.00 0 0f? Oct07 0:16| \_ [migration/10]
root 59 0.00 0.00 0 0]? S Oct07 0:09| \_ [ksoftirqd/10]
root 61 0.00 0.00 0 0f? S< Oct07 0:00| \_[kworker/10:0H]
root 62 0.00 0.00 0 0]? S Oct07 0:18| \_[watchdog/11]
root 63 0.00 0.00 0 0]? S Oct07 0:15| \_[migration/11]
root 64 0.00 0.00 0 0]? S Oct07 0:10] \_[ksoftirqd/11]
root 66 0.00 0.00 0 0]? S< Oct07 0:00| \_[kworker/11:0H]
root 67 0.00 0.00 0 0f? S Oct07 0:16| \_[watchdog/12]
root 68 0.00 0.00 0 0]? S Oct07 0:15| \_[migration/12]
root 69 0.00 0.00 0 0]? S Oct07 0:10| \_ [ksoftirqd/12]
root 71 0.00 0.00 0 0]? S< Oct07 0:00| \_[kworker/12:0H]
root 72 0.00 0.00 0 0]? S Oct07 0:17| \_[watchdog/13]
root 73 0.00 0.00 0 0f? S Oct07 0:13| \_ [migration/13]
root 74 0.00 0.00 0 0]? S Oct07 0:09| \_ [ksoftirqd/13]
root 76 0.00 0.00 0 0f? S< Oct07 0:00| \_[kworker/13:0H]
root 77 0.00 0.00 0 0]? S Oct07 0:17| \_[watchdog/14]
root 78 0.00 0.00 0 0]? S Oct07 0:13| \_[migration/14]
root 79 0.00 0.00 0 0]? S Oct07 0:10] \_[ksoftirqd/14]
root 81 0.00 0.00 0 0]? S< Oct07 0:00| \_[kworker/14:0H]
root 82 0.00 0.00 0 0f? S Oct07 0:17| \_ [watchdog/15]
root 83 0.00 0.00 0 0]? S Oct07 0:13] \_ [migration/15]
root 84 0.00 0.00 0 0]? S Oct07 0:10| \_ [ksoftirqd/15]
root 86 0.00 0.00 0 0]? S< Oct07 0:00| \_[kworker/15:0H]
root 88 0.00 0.00 0 0]? S Oct07 0:00| \_[kdevtmpfs]
root 89 0.00 0.00 0 0f? S< Oct07 0:00| \_[netns]
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root 90 0.00 0.00 0 0]? S Oct07 0:04| \_[khungtaskd]
root 91 0.00 0.00 0 0f? S< Oct07 0:00| \_[writeback]
root 92 0.00 0.00 0 0]? S< Oct07 0:00 | \_ [kintegrityd]
root 93 0.00 0.00 0 0]? S< Oct07 0:00( \_[bioset]
root 94 0.00 0.00 0 0]? S< Oct07 0:00| \_ [bioset]
root 95 0.00 0.00 0 0]? S< Oct07 0:00( \_[bioset]
root 96 0.00 0.00 0 0]? S< Oct07 0:00| \_ [Kblockd]
root 97 0.00 0.00 0 0]? S< Oct07 0:00( \_[md]
root 98 0.00 0.00 0 0f? S< Oct07 0:00| \_[edac-poller]
root 99 0.00 0.00 0 0f? S< Oct07 0:00| \_[watchdogd]
root 105 0.00 0.00 0 0f? S Oct07 32:48| \_[kswapdQ]
root 106 0.00 0.00 0 0]? SN Oct07 0:00| \ [ksmd]
root 107 0.00 0.00 0 0]? SN Oct07 0:15| \_[khugepaged]
root 108 0.00 0.00 0 0f? S< Oct07 0:00| \_[crypto]
root 116 0.00 0.00 0 0]? S< Oct07 0:00 [ \_ [kthrotld]
root 118 0.00 0.00 0 0]? S< Oct07 0:00| \_[kmpath_rdacd]
root 119 0.00 0.00 0 0]? S< Oct07 0:00| \_ [kaluad]
root 122 0.00 0.00 0 0]? S< Oct07 0:00[ \_[kpsmoused]
root 124 0.00 0.00 0 0f? S< Oct07 0:00| \_[ipv6_addrconf]
root 138 0.00 0.00 0 0]? S< Oct07 0:00( \_[deferwq]
root 221 0.00 0.00 0 0]? S Oct07 0:32] \_[kauditd]
root 285 0.00 0.00 0 0]? S< Oct07 0:00| \_[rpciod]
root 286 0.00 0.00 0 1K S< Oct07 0:00| \_[xprtiod]
root 393 0.00 0.00 0 0f? S< Oct07 0:00| \_[ata_sff]
root 394 0.00 0.00 0 0]? S Oct07 0:00| \_[scsi_eh_0]
root 395 0.00 0.00 0 0f? S< Oct07 0:00] \_[scsi_tmf_0]
root 396 0.00 0.00 0 0]? S Oct07 0:00| \_[scsi_eh_1]
root 397 0.00 0.00 0 of? S< Oct07 0:00]| \_[scsi_tmf_1]
root 407 0.00 0.00 0 0]? S< Oct07 0:26| \_[kworker/4:1H]
root 458 0.00 0.00 0 0]? S< Oct07 0:00( \_[bioset]
root 459 0.00 0.00 0 0f? S< Oct07 0:00| \_[xfsalloc]
root 460 0.00 0.00 0 0]? S< Oct07 0:00| \_[xfs_mru_cache]
root 461 0.00 0.00 0 0f? S< Oct07 0:00| \_[xfs-bufivdal]
root 462 0.00 0.00 0 0]? S< Oct07 0:00| \_[xfs-data/vdal]
root 463 0.00 0.00 0 0]? S< Oct07 0:00[ \_[xfs-conv/vdal]
root 464 0.00 0.00 0 0]? S< Oct07 0:00]| \_[xfs-cilivdal]
root 465 0.00 0.00 0 0]? S< Oct07 0:00| \_[xfs-reclaim/vda]
root 466 0.00 0.00 0 0f? S< Oct07 0:00]| \_[xfs-log/vdal]
root 467 0.00 0.00 0 0]? S< Oct07 0:00| \_ [xfs-eofblocks/v]
root 468 0.00 0.00 0 0f? S Oct07 22:13| \_[xfsaild/vdal]
root 469 0.00 0.00 0 0]? S< Oct07 0:33| \_ [kworker/2:1H]
root 701 0.00 0.00 0 0]? S< Oct07 0:00( \_[kdmflush]
root 702 0.00 0.00 0 0f? S< Oct07 0:00| \_[bioset]
root 712 0.00 0.00 0 0]? S< Oct07 0:00[ \_ [kvm-irgfd-clean]
root 713 0.00 0.00 0 0f? S< Oct07 0:00]| \_[ttm_swap]
root 734 0.00 0.00 0 0]? S< Oct07 0:00| \_[xfs-buf/dm-0]
root 735 0.00 0.00 0 0f? S< Oct07 0:00| \_[xfs-data/dm-0]
root 736 0.00 0.00 0 0f? S< Oct07 0:00| \_ [xfs-conv/dm-0]
root 737 0.00 0.00 0 0]? S< Oct07 0:00[ \_ [xfs-cil/dm-0]
root 738 0.00 0.00 0 0f? S< Oct07 0:00| \_[xfs-reclaim/dm-]
root 739 0.00 0.00 0 0]? S< Oct07 0:00 [ \_ [xfs-log/dm-0]
root 740 0.00 0.00 0 0]? S< Oct07 0:00| \_[xfs-eofblocks/d]
root 741 0.00 0.00 0 0]? S Oct07 28:20| \_ [xfsaild/dm-0]
root 792 0.00 0.00 0 0]? S< Oct07 0:29( \_[kworker/3:1H]
root 810 0.00 0.00 0 0f? S< Oct07 0:35| \_[kworker/1:1H]
root 812 0.00 0.00 0 0]? S< Oct07 0:45[ \_ [kworker/0:1H]
root 863 0.00 0.00 0 0f? S< Oct07 0:22| \_[kworker/6:1H]
root 906 0.00 0.00 0 0]? S< Oct07 0:14| \_[kworker/12:1H]
root 1,114 0.00 0.00 0 0f? S< Oct07 0:25| \_ [kworker/5:1H]
root 1,300 0.00 0.00 0 0]? S< Oct07 0:22]| \_[kworker/11:1H]
root 1,373 0.00 0.00 0 0]? S< Oct07 0:19[ \_[kworker/9:1H]
root 1,378 0.00 0.00 0 0f? S< Oct07 0:21| \_[kworker/7:1H]
root 1,619 0.00 0.00 0 0]? S< Oct07 0:36| \_ [kworker/10:1H]
root 7,177 0.00 0.00 0 0f? S< Oct07 0:18| \_[kworker/13:1H]
root 7,561 0.00 0.00 0 0]? S< Oct07 1:08] \_ [kworker/14:1H]
root 9,470 0.00 0.00 0 0]? S< Oct07 0:20( \_[kworker/8:1H]
root 9,471 0.00 0.00 0 0f? S< Oct07 0:19] \_ [kworker/15:1H]
root 19,001 0.00 0.00 0 0]? S Dec08 0:00| \_[kworker/13:1]
root 18,083 0.00 0.00 0 0f? S Dec08 0:01] \_ [kworker/0:2]
root 18,088 0.00 0.00 0 0]? S Dec08 0:00| \_[kworker/7:1]
root 29,406 0.00 0.00 0 0f? S Dec08 0:00| \_[kworker/9:1]
root 32,496 0.00 0.00 0 0f? S Dec08 0:01] \_ [kworker/4:0]
root 29,031 0.00 0.00 0 0]? S Dec08 0:00| \_[kworker/6:0]
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root 26,242 0.00 0.00 0 0]? S Dec08 0:09| \_[kworker/11:0]

root 22,367 0.00 0.00 0 0f? S Dec08 0:00| \_ [kworker/2:1]

root 1,810 0.00 0.00 0 0]? S 04:07 0:01| \_[kworker/12:0]

root 32,552 0.00 0.00 0 0f? S 05:15 0:00| \_[kworker/5:1]

root 19,252 0.00 0.00 0 0]? S 07:17 0:00| \_[kworker/15:0]

root 22,295 0.00 0.00 0 0]? S 10:14 0:01| \_[kworker/1:1]

root 25,816 0.00 0.00 0 0]? S 10:23 0:00| \_[kworker/3:1]

root 22,124 0.00 0.00 0 0]? S 11:33 0:00| \_ [kworker/u32:0]

root 26,636 0.00 0.00 0 0f? S 11:44 0:05| \_ [kworker/u32:2]

root 4,394 0.00 0.00 0 0]? S 12:10 0:00| \_ [kworker/8:2]

root 7,564 0.00 0.00 0 0f? S 12:18 0:00| \_[kworker/12:2]

root 16,466 0.00 0.00 0 0]? S 12:41 0:00]| \_[kworker/13:2]

root 18,814 0.00 0.00 0 0]? S 12:47 0:00| \_[kworker/4:1]

root 23,413 0.00 0.00 0 0f? S 12:59 0:00| \_ [kworker/9:2]

root 26,627 0.00 0.00 0 0]? S 13:07 0:00| \_ [kworker/3:2]

root 27,819 0.00 0.00 0 0f? S 13:10 0:00| \_[kworker/1:0]

root 28,173 0.00 0.00 0 0]? S 13:11 0:00| \_[kworker/15:1]

root 28,607 0.00 0.00 0 0]? S 13:12 0:00| \_[kworker/0:1]

root 29,270 0.00 0.00 0 0]? S 13:13 0:00| \_[kworker/10:0]

root 29,918 0.00 0.00 0 0]? S 13:15 0:00| \_[kworker/14:1]

root 30,994 0.00 0.00 0 0f? S 13:18 0:00| \_[kworker/6:1]

root 31,581 0.00 0.00 0 0]? S 13:19 0:00| \_ [kworker/10:2]

root 32,233 0.00 0.00 0 0f? S 13:21 0:00| \_[kworker/7:2]

root 32,644 0.00 0.00 0 0]? S 13:22 0:00]| \_[kworker/11:2]

root 569 0.00 0.00 0 0]? S 13:23 0:00| \_[kworker/2:0]

root 1,421 0.00 0.00 0 0f? S 13:25 0:00| \_ [kworker/5:2]

root 1,775 0.00 0.00 0 0]? S 13:25 0:00| \_[kworker/14:2]

root 1,894 0.00 0.00 0 0f? S 13:26 0:00| \_[kworker/8:0]

root 3,098 0.00 0.00 0 0]? S 13:29 0:00| \_[kworker/u32:1]

root 3,376 0.00 0.00 0 0 S 13:29 0:00| \_[kworker/10:1]

root 4,017 0.00 0.00 0 0f? S 13:31 0:00| \_ [kworker/14:0]

root 4,318 0.00 0.00 0 0]? S 13:32 0:00| \_[kworker/9:0]

root 1 0.10 0.00 194,876 6,916 | ? Ss Oct07 139:57 | /usr/lib/systemd/systemd --switched-root --system --deserialize 21

root 572 0.00 0.00 101,716 48,584 | ? Ss Oct07 36:17 | /usr/lib/systemd/systemd-journald

root 597 0.00 0.00 267,684 4,936 | ? Ss Oct07 0:00| /usr/sbin/lvmetad -f

root 620 0.00 0.00 49,192 3,124 |? Ss Oct07 0:00 | /usr/lib/systemd/systemd-udevd

root 789 0.00 0.00 55,532 684 |? S<sl Oct07 1:59 | /shin/auditd

rpc 818 0.00 0.00 69,280 484 |7 Ss Oct07 0:07 | /shin/rpcbind -w

root 819 0.00 0.00 21,660 1,068 | ? Ss Oct07 5:53| /usr/shinf/irgbalance --foreground

dbus 822 0.00 0.00 78,728 2,320|7? Ssl Oct07 22:33 lu[srlbti_n/dbus-daemon --system --address=systemd: --nofork --nopidfile --systemd-
activation

polkitd 841 0.00 0.00 624,616 5,156 | ? Ssl Oct07 5:32| /usr/lib/polkit-1/polkitd --no-debug

root 843 0.00 0.00 12,200 2,756 | ? Ss Oct07 9:56 | /usr/shin/haveged --Foreground --verbose=1 -w 1024

root 846 0.00 0.00 268,292 3,300 | ? Ss Oct07 0:08 | /usr/shin/sssd -i --logger=files

root 892 0.00 0.00 360,236 5,992 |? S Oct07 1:29| \_/usr/libexec/sssd/sssd_be --domain codeaurora.org --uid 0 --gid O --logger=files

root 893 0.00 0.00 276,208 3,708 |? S Oct07 4:31| \_/usr/libexec/sssd/sssd_nss --uid O --gid O --logger=files

root 894 0.00 0.00 249,388 2,756 | ? S Oct07 0:37| \_/usr/libexec/sssd/sssd_sudo --uid 0 --gid O --logger=files

root 895 0.00 0.00 255,832 3,380 | ? S Oct07 0:37| \_/usr/libexec/sssd/sssd_pam --uid O --gid O --logger=files

root 896 0.00 0.00 249,380 2,748 |72 S Oct07 0:43| \_/usr/libexec/sssd/sssd_ssh --uid 0 --gid 0 --logger=files

root 897 0.00 0.00 296,180 2,804 |? S Oct07 0:37| \_/usr/libexec/sssd/sssd_pac --uid 0 --gid 0 --logger=files

root 873 0.00 0.00 262,904 640 | ? Ssl Oct07 0:00 | /usr/shin/gssproxy -D

root 887 0.00 0.00 40,340 448 | ? Ss Oct07 0:00| /usr/shin/rpc.gssd

root 898 0.00 0.00 26,384 1,576 | ? Ss Oct07 16:23 | /usr/lib/systemd/systemd-logind

root 1,124 0.00 0.00 102,904 9202 Ss Oct07 0:00| /shin/dhclient -1 -q -If /var/lib/dhclient/dhclient--eth0.lease -pf /var/run/dhclient-eth0.pid
-H vex-yul-rot-jenkins-1 eth0

root 1,183 0.00 0.00 574,304 5,432 |7? Ssl Oct07 10:47 | /usr/bin/python2 -Es /usr/shin/tuned - -P

root 1,184 0.00 0.00 52,732 1,424 |? Ss Oct07 0:00 | /usr/shin/oddjobd -n -p /var/run/oddjobd.pid -t 300

root 1,186 0.00 0.00 97,280 2,956 | ? Ss Oct07 2:05| /usr/shin/certmonger -S -p /var/run/certmonger.pid -n

rabbitmq 1,188 1.80 0.10 3,327,052 88,212 ? Ssl Oct07 1696:37 | /usr/lib64/erlang/erts-5.10.4/bin/beam.smp -W w -K true -A30 -P 1048576 -- -root
lusr/lib64/erlang -progname erl -- -home /var/lib/rabbitmgq -- -pa
lusr/lib/rabbitma/lib/rabbitmq_server-3.3.5/sbin/../ebin -noshell -noinput -s rabbit boot -
sname rabbit@vex-yul-rot-jenkins-1 -boot start_sasl -config /etc/rabbitma/rabbitmq -
kernel inet_default_connect_options [{nodelay,true}] -rabbit tcp_listeners
[{"auto",5672}] -sasl errlog_type error -sasl sasl_error_logger false -rabbit error_logger
{file,"Ivar/log/rabbitmg/rabbit@vex-yul-rot-jenkins-1.log"} -rabbit sasl_error_logger
{file,"Ivar/log/rabbitmg/rabbit@vex-yul-rot-jenkins-1-sasl.log"} -rabbit
enabled_plugins_file "/etc/rabbitmag/enabled_plugins” -rabbit plugins_dir
"{usr/lib/rabbitma/lib/rabbitmq_server-3.3.5/sbin/../plugins” -rabbit plugins_expand_dir
"Ivar/lib/rabbitmg/mnesia/rabbit@vex-yul-rot-jenkins-1-plugins-expand" -os_mon
start_cpu_sup false -os_mon start_disksup false -os_mon start_memsup false -
mnesia dir "/var/lib/rabbitmg/mnesia/rabbit@vex-yul-rot-jenkins-1" -kernel
inet_dist_listen_min 25672 -kernel inet_dist_listen_max 25672

rabbitmq 2,959 0.00 0.00 35,164 932|? Ss Oct07 0:01| \_inet _gethost 4

rabbitmq 2,970 0.00 0.00 43,648 1,088 | ? S Oct07 0:00 \_inet_gethost 4

rabbitmq 19,146 0.00 0.00 43,648 1,108 |? S Oct07 0:16 \_inet_gethost 4

root 1,189 0.00 0.10 326,104 70,296 | ? Ssl Oct07 4:46 éopt/puppetlabs/puppet/bin/ruby lopt/puppetlabs/puppet/bin/puppet agent --no-

aemonize
nobody 1,195 0.00 0.00 62,372 1584172 Ss Oct07 0:48| /usr/shin/dnsmasq -k
rabbitmq 1,220 0.00 0.00 37,120 2,352 |? S Oct07 1:04 | /usr/lib64/erlang/erts-5.10.4/bin/epmd -daemon
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root 1,438 0.00 0.00 91,788 1,224 |? Ss Oct07 2:29| /usr/libexec/postfix/master -w

postfix 1,450 0.00 0.00 102,232 3,300 |? S Oct07 0:22| \_ gmgr -l -t fifo -u

postfix 27,605 0.00 0.00 102,068 4,024 |2 S Oct09 0:02| \_tlsmgr -I -t unix -u

postfix 6,030 0.00 0.00 102,056 4,052 |? S 12:14 0:00| \_ pickup -l -t fifo -u

root 1,536 0.00 0.00 774,716 4,1721? SLsl Oct07 65:56 | /usr/sbin/collectd

nrpe 1,539 0.00 0.00 44,916 2,184 |? Ss Oct07 7:56 | /usr/shin/nrpe -c /etc/nagios/nrpe.cfg -f

root 1,572 0.00 0.00 112,924 341217 Ss Oct07 5:42 | /usr/sbin/sshd -D

root 24,012 0.00 0.00 175,640 5,876 | ? Ss 13:00 0:00| \_sshd: abaranov [priv]

abaranov 24,017 0.00 0.00 175,896 2,896 | ? S 13:00 0:00| | \_sshd: abaranov@pts/O

abaranov 24,018 0.00 0.00 115,544 2,024 | pts/0 Ss 13:00 0:00] | \ -bash

root 24,042 0.00 0.00 233,392 4,544 | pts/0 S 13:00 0:00| | \_ sudo -i

root 24,084 0.00 0.00 115,676 2,204 | pts/0 S+ 13:00 0:00] | \_-bash

root 31,029 0.00 0.00 175,644 5,864 | ? Ss 13:18 0:00| \_sshd: choypoy [priv]

choypoy 31,035 0.00 0.00 176,204 3,144 |? S 13:18 0:00 \_ sshd: choypoy@pts/1

choypoy 31,039 0.00 0.00 115,544 2,004 | pts/1 Ss 13:18 0:00 \_ -bash

root 31,105 0.00 0.00 233,392 4,536 | pts/1 S 13:18 0:00 \_sudo -i

root 31,108 0.00 0.00 115,676 2,216 | pts/1 S 13:18 0:00 \_-bash

root 4,427 0.00 0.00 162,256 2,420 | pts/1 SH 13:32 0:00 \_top

root 1,598 0.00 0.00 110,204 804 | ttyl Ss+ Oct07 0:00| /shin/agetty --noclear tty1 linux

root 1,605 0.00 0.00 126,420 1,528 |? Ss Oct07 5:36 | /usr/shin/crond -n

root 1,611 0.10 0.10 728,448 111,376 | ? Sl Oct07 95:26 | /opt/puppetlabs/puppet/bin/ruby /opt/puppetlabs/puppet/bin/mcollectived --
config=/etc/puppetlabs/mcollective/server.cfg --
pidfile=/var/run/puppetlabs/mcollective.pid --daemonize

root 1,615 0.00 0.00 110,204 816 | ttySO Ss+ Oct07 0:00| /shin/agetty --keep-baud 115200,38400,9600 ttySO vt220

ntp 10,330 0.00 0.00 42,208 2,068 | ? Ss Oct07 0:35| /usr/shin/ntpd -u ntp:ntp -g

root 13,241 0.00 0.00 17,852 916 | ? Ss Oct07 7:33| gpg-agent --daemon --use-standard-socket

root 4,716 0.00 0.00 913,516 37,844 |? Ssl Nov18 5:45| /usr/shin/rsyslogd -n

dd-agent 21,686 0.80 0.10 2,638,952 122,580 | ? Ssl Dec03 69:44 | /opt/datadog-agent/bin/agent/agent run -p /opt/datadog-agent/run/agent.pid

dd-agent 21,688 0.80 0.00 2,145,040 58,468 | ? Ssl Dec03 70:25 | /opt/datadog-agent/embedded/bin/process-agent --config=/etc/datadog-
agent/datadog.yaml --sysprobe-config=/etc/datadog-agent/system-probe.yaml --
pid=/opt/datadog-agent/run/process-agent.pid

jenkins 10,933 69.80 29.10( 27,899,328 19,152,772(? Ssl Dec08 769:21| /etc/alternatives/java -Dcom.sun.akuma.Daemon=daemonized -server -
XX:+AlwaysPreTouch -Djava.awt.headless=true -
Djenkins.install.runSetupWizard=false -Xmx16G -Xms4G -Xloggc:/var/log/jenkins/gc-
%t.log -XX:NumberOfGCLogFiles=5 -XX:+UseGCLogFileRotation -
XX:GCLogFileSize=20m -XX:+PrintGC -XX:+PrintGCDateStamps -
XX:+PrintGCDetails -XX:+PrintHeapAtGC -XX:+PrintGCCause -
XX:+PrintTenuringDistribution -XX:+PrintReferenceGC -XX:+PrintAdaptiveSizePolicy -
XX:+UseG1GC -XX:+ExplicitGCInvokesConcurrent -XX:+ParallelRefProcEnabled -
XX:+UseStringDeduplication -XX:+UnlockExperimentalVMOptions -
XX:G1NewSizePercent=20 -XX:+UnlockDiagnosticVMOptions -
XX:G1SummarizeRSetStatsPeriod=1 -
Dhudson.TcpSlaveAgentListener.hostName=10.30.48.5 -
Dhudson.TcpSlaveAgentListener.port=36895 -Djavamelody.jmx-expose-enabled=true
-DJENKINS_HOME=/var/lib/jenkins -jar /usr/lib/jenkins/jenkins.war --
logfile=/var/log/jenkins/jenkins.log --webroot=/var/cache/jenkins/war --daemon --
httpPort=8080 --debug=10 --handlerCountMax=300 --handlerCountMaxIdle=50 -
Dhudson.model.ParametersAction.safeParameters=GERRIT_EVENT_TYPE,GERRIT

EVENT_HASH,GERRIT_BRANCH,GERRIT_TOPIC,GERRIT_CHANGE_NUMBER,
GERRIT_ CHANGE ID,GERRIT_| PATCHSET NUMBER,GERRI_PATCHSET | REVISI
ON,GERRIT_REFSPEC,GERRIT_PROJECT,GERRIT_CHANGE_SUBJECT,GERRIT
CHANGE COMMIT _| MESSAGE GERRIT_CHANGE_URL,GERRIT_CHANGE_OW

NER,GERRIT_CHANGE_OWNER_NAME,GERRIT_CHANGE_OWNER_EMAIL,GER
RIT_| PATCHSET UPLOADER,GERRIT_PATCHSET_UPLOADER_NAME,ZUUL_RE
F,ZUUL_COMMIT,ZUUL BRANCH BASE_LOG_PATH,ZUUL_PIPELINE,ZUUL_UUI
D,LOG_PATH,ZUUL_VOTING,ZUUL_CHANGE_IDS,ZUUL_PATCHSET,ZUUL_BRA
NCH, ZUUL URL, ZUUL CHANGE, ZUUL CHANGES, ZUUL PROJECT

jenkins 4,434 0.00 0.00 155,776 2,128 |? R 13:32 0:00| \_ ps wauxf

nrpe 4,202 0.00 0.00 44,916 1,548 | ? S 13:31 0:00 | /usr/shin/nrpe -c /etc/nagios/nrpe.cfg -f

nrpe 4,204 0.00 0.00 44,920 624 |? S 13:31 0:00| \_/usr/shin/nrpe -c /etc/nagios/nrpe.cfg -f

nrpe 4,205 0.00 0.00 9,568 1,360 |? S 13:31 0:00 \_ /bin/sh /usr/lib64/nagios/plugins/check_jenkins.sh -w 70 -c 90 -m 90 -j
http://localhost:8080/

nrpe 4,208 0.50 0.00 110,168 15,608 | ? S 13:31 0:00 python /usr/lib64/nagios/plugins/check_jenkins -w 70 -c 90 -m 90 -j

http: //Iocalhost 8080/
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